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(1) 3x2.5x3 (2) 4y. (-2xy3)
(3) (3x%y) 3. (4x) (4) (-2a) 3. (-3a) 2

—12x"y’ —72a’
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(1) 3a3.2a2=6a5 X (2) 2x23x2=6x¢ X
(3) 3x2.4x2=12x2 % (4) 5y3.3y5=15y!5 %
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(1) (-5a’b)(-3a); (2) (2x)’(-5xy?)

2. (1) (-5a2b)(-3a)

=[(-5) X (-3) ]. (a2a) b
=15a3%b

(2) (2x) 3 (-5xy2)
=8x3. (-5xy2)

=[8X (-5) ] (x3.x) y?
=-40x4y?
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(1) v (4x2) . GxrD)

(2) (gab ? — 2ab)-Lab
3 2

B (1) (4x2) . (3x+1)

(-4x2) . (3x) + (-4x2) -1

(-4X3) . (x2.x) + (-4x2)
=-12x3 -4x?
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(1) 3a (5a-2b) (2) (x-3y) (-6x)
2461 : x (x-1) +2x (x+1) -3x (2x-5)

%2 1. (1) 15a%-6ab (2) -6x2+18yx
2.-3x2+16x
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(1) (-a+b)(a+b) (x&

(2) (-2a+b)(-2a-b) (/&)
(3) (-atb)(a-b) ()

(4) (atb)(a-c) (£5)
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5. 15 (3a2-7)(-3a2-7).
. JRE=(-7+3a2) (-7-3a2)

— (_7) 2— (332) 2

— 49-9a4.
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6. & (1) 1996 %2004
. 1996 X 2004

= (2000-4) (2000+4)

=2000 2- 4 2
=4000000-16
= 3999984




(2)-2000° —1999x 2001

. JRZ0 =2000% —[(2000 —1)(2000 +1)]
=2000" —(2000” —1)
=2000% — 2000 +1
=1




(3) TFF(x+3)(x=3)(x" +9)
i 5 = (xF —9)(x +9)

— x* —81
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